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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 241 13.9 4 25 55.7 9.3
2 239 14.5 4.2 25 58.1 9.2
3 304 14.5 5.5 25 58 11.7
4 208 12.9 5.8 25 51.6 8
5 541 12.2 4.1 25 48.9 20.9
6 576 13.4 4 25 53.6 22.2
7 197 13.3 4.8 25 53.1 7.6
8 288 13.4 4.2 25 53.4 11.1
9 682 12.8 3.7 25 51.2 26.3

10 549 13.4 3.6 25 53.7 21.2
11 590 15.1 3.9 25 60.2 22.7
12 165 14.8 3.7 25 59.3 6.4
13 184 14.1 3.9 25 56.3 7.1
14 190 14.9 4.1 25 59.5 7.3
15 156 14.3 3.9 25 57.2 6
16 69 13.4 3.8 25 53.4 2.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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SECTION A: CONTEMPORARY THEMES IN GEOGRAPHY

Answer two questions, one question from questions 1 to 8 
and one question from questions 9 to 16.

Make the fullest possible use of examples in support of your answers.

Answer one question from questions 1 to 8.

Theme 2 Landforms and their Management

Glacial Environments

4. Describe the landforms and examine the processes associated with deglaciation. [25]
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Sticky Note
Question 4 from Theme 2, Landforms and their Management, asks candidates to 'Describe the landforms and examine the processes associated with deglaciation'. 

Sticky Note
Here the candidate makes the link between the deglaciation process and its associated landform.

Sticky Note
It is good practice for candidates to set the scene in their introduction by defining key words (in this case, 'deglaciation'), identify the direction of their argument and respond critically to command words. The command word to 'examine' requires candidates to 'investigate in detail, offering evidence for or against a point of view or judgement'. This approach can be adapted to all essay questions in G3A.






Sticky Note
Many candidates' responses are restricted to level 3 or 'average' because there is insufficient linkage evident in their responses. The use of integrated diagrams earns good credit, although the diagrams shown in this response would benefit from further annotation. 'Limited linkage' is a criteria characteristic of a level 3 or 'average' response.





Sticky Note
The candidate summarises their arguments in a concise manner, recognising the complexities of the topic. This response was awarded a mark of 25/25. It achieved level 5 as, in addition to being clearly structured, it meets a range of the level 5 descriptors including:
· A high order of conceptual   
  understanding
· Wide-ranging, thorough and accurate
   knowledge
· Detailed exemplification
· A well-structured, coherent and logical
  response
· Complex ideas expressed clearly with no
   errors in grammar, punctuation or
   spelling.
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SECTION A: CONTEMPORARY THEMES IN GEOGRAPHY

Answer two questions, one question from questions 1 to 8 
and one question from questions 9 to 16.

Make the fullest possible use of examples in support of your answers.

Answer one question from questions 1 to 8.

Coastal Environments

6. Assess the importance of geology in the development of coastal landforms. [25]
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Sticky Note
Question 6 from Theme 2 Landforms and their Management asks candidates to 'Assess the importance of geology in the development of coastal landforms'. Extracts from this candidate's response demonstrate their knowledge and understanding of the role of geology in the development of landforms and their ability to assess its importance.



Sticky Note
Many candidates responses are restricted to level 3 or 'average' as there are insufficient linkages in their response.  Linkages and assessment are characteristics of level 4 and level 5 answers.
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Answer one question from questions 9 to 16.

Theme 6 Emerging Asia

China

14. ‘Achieving a balance between economic growth and sustainable development in China is
problematic.’ Discuss.	 [25]

END OF PAPER
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Sticky Note
Question 14 from Theme 6, Emerging Asia' was: 'Achieving a balance between economic growth and sustainable development in China is problematic.' Discuss.

Sticky Note
The candidate introduces the concept of sustainable development at the outset and places it in the context of China's rapid economic growth by posing a question.


jamess
Sticky Note
Unmarked set by jamess



Sticky Note
To achieve a response beyond the level 3 or 'average' category, it is important that candidates maintain the linkage between the components of the question. These linkages (in this case between sustainable development and economic growth) need to be supported with evidence (in this case plans for water treatment centres).





Sticky Note
This concluding paragraph demonstrates a high order of conceptual understanding. The candidate refers to a conceptual framework (the Kuznets curve), assesses the relative importance of the different elements that contribute to the lack of sustainability and recognises that the relationship between economic growth and sustainable development changes over time.
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Q.4 Describe the landforms and examine the processes associated with deglaciation.  
(1.4) [25] 


Guidance 
 


 Candidates: 
 


i. should show knowledge and understanding of the landforms and processes 
associated with deglaciation;  
 


ii. should show the ability to examine the processes associated with deglaciation. 
 


Indicative content 
Expect candidates to describe the landforms and examine the processes associated 
with deglaciation.  Candidates could examine the production of landforms that may 
pass through a series of process changes from glacial to periglacial into present day 
conditions.  Relevant geomorphological processes could include mass movement 
processes (modifying valley profiles largely created by glacial erosion), fluvial 
processes (resulting in the infilling at the head of ribbon lakes), or weathering 
processes (breaking down glacial and fluvio-glacial deposits).  Processes and 
landforms associated with deglaciation include periglacial processes and landforms. 
On areas of low relief important periglacial processes are frost heaving and thrusting 
and associated periglacial landforms are pingos and patterned ground.  On slopes 
important periglacial process are freeze-thaw weathering and solifluction and 
associated periglacial landforms are blockfields, scree slopes and solifluction lobes 
and benches.  Expect the landforms to be described and processes to be examined in 
a detailed and balanced way for candidates to reach the very good (Level 5) category 
and examples to be well integrated in the answer. Average (Level 3) responses will 
be characterised by secure, but generalised, content and good (Level 4) responses 
by good factual knowledge and understanding. 
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Q.6  Assess the importance of geology in the development of coastal 
landforms. 


(1.4) [25] 
 
Guidance 
  
Candidates: 
 
i. should show knowledge and understanding of the effect of the character of 
 individual rocks and lithology (hardness, mineral composition, solubility) on 
 the development of coastal landforms; 
 
ii. should show knowledge and understanding of the effect of geological 
 structure (bedding, dip, faulting, and joints) on the development of coastal 
 landforms; 
 


iii. should show the ability to assess the importance of geology on the 
 development of the coastal landforms discussed. 
 


Indicative content 
Expect answers to deal with at least two landforms or a stretch of coast.  Some 
candidates may structure the whole answer around two or more selected landforms, 
but it is permissible for a broader approach to be taken with reference being made to 
a number of landforms by way of illustration.  The influence of geology on landforms 
can readily be examined in a coastal environment as follows: discordant and 
concordant coastlines; differential erosion of coastlines; features of coastal erosion – 
cliff profiles; caves, arches, blowholes; marine transportation – nature of load carried 
which provides the ‘tools’ for erosion; marine deposition – pebble – gravel – sand – 
alluvium – mud sequence in a beach or spit sequence. Expect the role of geology to 
be assessed in a detailed and balanced way for candidates to reach the very good 
(Level 5) category, with reference being made to other factors that influence the 
development of coastal landforms besides geology such as differences in energy 
levels and human intervention.  Expect examples to be well integrated in the answer. 
Average (Level 3) responses will be characterised by secure, but generalised, 
content and good (Level 4) responses by good factual knowledge and 
understanding. 
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Q.14 ‘Achieving a balance between economic growth and sustainable development 
 in China is problematic.’  Discuss. 


(1.6) [25] 
 
Guidance 
 
Candidates: 
 
i. should show some knowledge and understanding of the different ways in 


which economic growth in China is compromising sustainable development; 
 
ii. should show the ability to discuss the extent to which economic growth and 


sustainable development can both be achieved. 
 


Indicative content 
Expect candidates to mention that the relationship between the environment and 
economic growth is complex and poses something of a conundrum.  As a country 
develops it uses more energy and mineral resources to support manufacturing. More 
offices, transport and houses all use natural resources.  Most human activity, 
domestic and industrial, produces waste which has to be disposed of and in turn 
affects air quality.  The optimistic view suggests that the range of demands on the 
environment can be managed in order to ensure a sustainable future.  As a country 
becomes more developed it can develop the technology to use resources more 
sustainably and efficiently.  Theoretically, the more wealthy a country the more it can 
afford environmental protection and could limit its environmental and ecological 
footprint.  There is a growing environmental awareness among grassroots 
organisations and communities in China, but serious concern for environmental 
sustainability within the Politburo is still overridden by the desire for economic growth. 
Despite that, the Government response to Rio and Kyoto suggested some 
recognition of the need for sustainability and the Chinese signed the Kyoto Protocol 
in 1998, less than a year after it was set up.  This was also intended to establish 
China as a leader of developing nations. Environmental concerns are being taken 
seriously, but bureaucratic problems and some corruption inhibit national policies 
being put into practice in local communities.  Recent progress has been made by 
Chinese manufacturers to develop solar, wind and clean coal technology.  This 
recent trend contradicts the conventional picture of China’s poor environmental 
image. China's new premier, Li Keqiang, has vowed to tackle pollution and has 
pledged that his government will ‘show even greater resolve’, but has failed to 
provide details.  For very good (Level 5) responses, expect a detailed and balanced 
discussion with well integrated examples.  Average (Level 3) responses will be 
characterised by secure, but generalised, content and good (Level 4) responses by 
good factual knowledge and understanding. 


 





	4: 
	6: 
	14: 


